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�1 �"��'�(�� ): 
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8
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�� �/����1 �  

1��$:+�� ��
3 �� 2�� !����� � ,� �manipulators � D�E�  � ��7 .�$:+������� ��F �� �� !3�
 �� �� ��6
�$��3��= G�1 �EH= I�� ��J=+ K=� : �L : �� M��N�
1 M��?: 8=�7 � � 43�C �� ���< ����� *��� ,

��1�1� : 87�� �OF P�E"=1 ������ I�$ : � 4
1 . ��3 �Q�= 0:8� : �"<1: #��� ,� �� 8��� *��� '�= !�1
 8$8� 9�R=1 1� ��� .,� 4��
 �1�� �3 ��S�=�>� '�=  �;< +1 ���/�(�� ��
��
 !�1 �� D�E� ����� *��� 

��7 �� 2�� ����� ������� '1�=1 !�
T�$ : ���� �� �� +�U : 4
1  
8�.3 *��.3 �� :�� �
7V ��+ �-��7   

Localization ���  ��  ���5� !��"� -./ ��   
Locomotion ���� �� �� ���    
Navigation ���$�  ���:�= �� �  
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�1 �����$1 : �TW� '�(�� 4: 
  

��.3  *��:� ��  *��:�  +1 ��=����
6 �./� – W��.� X��3 ,F�Y �=�M8
5 �$� �Z[\ ,Y 31�.
1:� 
]�;�<1 M87 4
1 .  �Y X�
 ^F +1 1�! _�?�
>�� 8��8  ���:��, �"
`�  �F �� �`�/ 471Oa : ��1+: 
4�:� �$ 4
� �$� =�>��>� 5���� 8=��3��� �3 B��3���� ��=V 1� 18$�4 �� 8
3 .  

�� ����W� F�4b�6 �$� _�?�
>�� ���:��, : �$�����3� -�� *��:�  

=��� �$� 0�< $�-$8R �� :� 0�5=�3: ��>
:�/� =�>��>� �� M+18=1 0�5=1 4��
 �3 +���, �� 
8
��1�=  

  ��\� � ��31_ $�J�
�� �1�� a8
b��� 4��
 �3 ���=�� OF�� ���  
 ��\c �  ��*��d  >
:�/� =�>��>� 4��
 �3 �� 45=1�� 7�H=� 8
3 .  

 �Z�%�  �� 
� X:�  '��W� ��1��>�� 
:��. 1� 1��� X��
3 4��
 �3 �� 45=1�� -ed/ ��>?1�>� 1� 
�� ��U U�
f��5� 4;g 8
3 : ��=V 1� M���:� 1��� ��3 �, 7���! =�>��>� +�� +�
� ��=�8 .  
 �Zc�� 4��
 �.� ���1�F1 ) :+��� =�>��>� �� X��
� +1 M1� �:� ( 1��� ��3 �� �1�� 1+���F ) �1��� �>��� (  
 �Zc[� ?:1�! �=��= 7���! X��
3 �8/� ^F +1 8
Y X�
 ��3 �� MIT �� ��=�j �� 8�V . 6W�� +1 

0��+ ���=�� ��S� 0V ( Automatically Programmed Tooling ) APT �$8"�  ��>� �4b� : 
�� X�
 �Z%� �6�
� 87 .  

 ��c� � !3 ��:1�  '��W� ���=������ �(�H�� 4;g '1���1 *��:� 1� D�E� ��3 .  

 �ZcZ� 43�7 4=dF �5W=�! *��:� ��R�� 1� �(�/ ��3 . 1�! *��:� �� ,�1��� : .3�8 8C� X��
3 

�� 87 .  

 �Z%\� �5W=�! *��:� �=�� ��4 « unimate » �� �F��  X�H�=1 ���=�� ��S� M87 k�3  �(�/ 87 . 

1�! *��:� 1�1�� ���� $�?:�8�>� ��� : �� 0V +1 X�`1 X��
3 �8/� 1��� ���� :+��� =�>��>� M��N�
1 

M87 ��� .  

 �Z%�� �� �=����3 ���b A ���:�� �=�� ��4 1��� �;$1�� 7���! ����W �a� 4�� ��6b lm= 87 .  

 �Z%% ��, 43�7 _:�=� ���:�� 1��� K=� 7�F� lm= ��3 .  

 �Z%�� *��:� 
���� �� 9�= 7�>� ( Shaky ) �� �5
�� 6$:nF� +���N=��
1 ����
 87 . 1�! 
*��:� 1�1�� �
�5C �$� 0�a�=�a +1 �.�� ��:��! �
�5C �$� �5�? M8

3 ��� : �� 45=1�� �� P1�U1 

43�C 8
3 .  

▪ �Z	� � 4
� =��
1���N  �, 4
� <��� *��:� ��� A �� M�J6=1� ���N=��
1 ����
 87 .  

▪ �Z	�� ��! 0��+ ���=�� ��S� *��:� B��3����� �� 9�= :�� « Wave » : �� X�;=� 0V 0��+ X1  AL 

 �� �5
�� 6$:nF� ���N=��
1 �(�/ 87 . �$8"� 1�! :� 0��+ �� 0��+ ��R�� X1: « VAL » 8;��  
8=87 .  
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 �Z	�� 43�7  V.o .V  ���:�� pd��3 <��� �� 9�= IRb% �(�/ 471� .  

 �Z	�� 43�7 
�! 
���
� *��:� �T 1� �� X��
3 B��3����� �(�/ ��3 .  

 �Z	c� *��:�  +���J  �  ?1����  �� �/�*d _��=�� �� ��3 ��b�a 87 q 1�! �>� +1 �5W=�! �$�����3� 
*��:� �� #� _��=�� ��� .  

 �Z	�� ��:�* RUMA ) 7���! �=��X�
�� ���=�� OF�� 1��� _��=�� (�(�/ 87 .  

 �Z�\ �
�-�5  !�71��� +1 �;"�  �� *��:� �� M�J6=1� V���8
. �� ��=�j 8�V�� . 1�! *��:� 45=1�� �� 
M��N�
1 +1 ���
�� 7���! A *�"E< M8
31�F 1� +1 �;"� ��1��� .  

 �Z��� �, *��:� �� ���� H�5��- �� 6=1�M�J  J=��3� 0�.�  ����
 87 . �� 1�! *��:� +1 �, 
�����:��>?1 lm= M87 :�� :+��� =�>��>� A 08� M��N�
1 +1 #�1� �$� =�>��>� X��"� �� �r31 *��:� �$ 

A M��N�
1 M87 ��� .  

 �Z�[� 43�7 IBM ^F +1 8
Y X�
 Id� *��:� RS-� 1� �(�/ ��3 �3 1�1�� ��<� �;"� 1� ��� : 
+1 +��:�� �� M8=Sf? �E<� M��N�
1 �� ��3 . �� ���=�� 0V +1 0��+ ���=�� ��S� AMC ) ���� M87 
����. 

IBM ( M��N�
1 M87 ��� .  

 �Z��� I�1Sa �$�� �� ���� j$:nF �$� 43�7 �
:�]:��J� �� �
�F�
� 
���� 9�./ ��1��> �� ���� 

 
�-�5 _��=�� ���=�� OF�� :  ��< ;E��s  �6�
� 87 �3 D�U ��+V�6� 1��� ���=�� ��S� P�E"=1 OF�� 
#� _��=�� �� M��N�
1 +1 *��:� t�5�� �� 87�� .  

 �Z�� �8
Y '�= 
�-�5 ���=�� ��S� L�� H�5��- �� ��=�M�J6 *��:� � �(�/ 87 . 1�! 
�-�5 �$ 1�! 
0�>�1 1� -$1�b M��:V �3 ���=�� *��:� 1� 01��� �� M��N�
1 +1 X��;� b1�a�>� �� :�� B��3���� �$� mW7� 
���� : ^B
 �� *��:�  H�
� ��3 .  
 

������ M+:��1� ��
3 : �7�a 9��� �� ����� �a8=+ ,�1 8=�1� ���: 0�8� �
Y �� ������ !��$�� !�� 
� k��"��� M8� 8=�7 :                    
                        

!� =-!>*	�'% "&�
$�� �� ��$ #�= �����
 ���b� : ��>=8"�� �$ �?�?  �� td(�b –+�:�63 � – : tV 
 1�$–+�
 0�����
 � –+ � tV �–��G= � – �vb – �$  J
� –=�6= j�V ��C �NU1 : �s  
  

!� =-!>*	�'?&!/ $ 0:�� :�� ��$ #� �����
 ���b� :����$ �=�� 0��3 S� w�S� –��C � ���� l.� : 4
��6�� –  �$ M+�� ��–�� �� � I:�b : 8–�=�����
 �� !�71� *��G=  �–H�� � *�H–��a�
� t�;
1 : 
+��� –:�
 :  H= :  �C ����18�J= : ^�  

������ dr��a�S� � 0�Y plustech 1��  ��� ���� ���$ t�Y ��� �� M��N�
1  J
� M87 M8� : ��7 � ,
45$ w�S� �1� �F *���
�� 0V X��
3 : � �.�� 9�R=1 ��56= 0V �� �3 0�5=1 ,�a ���  
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Pulstech developed 
the first ‘industrial like’ 
walking robot. It is 
designed moving wood 
out of the forest. The 
leg coordination is 
automated, but 
navigation is still done 
by the human operator 
on the robot. 

  

  
�*��� � sojourner  �� M87 M��N�
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�b ��d��  
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?:1 +1������� !� ����� AGV  �3 8=��� �$ 
 )NW�(autonomos guided vehicle) �� 


"� �� 87����
: �:� �3 ��3��� M87 ��
$1�  � 
���$  �� 1�� *�R=����3 �� 43�C  H� :  �C 
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�� : 8=��3 �
 �.� @�� - !?�
 )3 ��  m��

� 4
8� 1� ��� 01��� 8=��:1  .1� ^>/ !�>� +1 
8����8�� ��=V !� 43�7 4��
 87�� volvo 

  
  

  

5� *����?V ,Y�3 ����
 �� ^� S[ �� [ �� [ 
�=�
� M��N�
1 S��< 0:��� ��5

 +1 �3 4
1 ��� 
��1 : 8
3   +���:� ,�b !��1��;�.� -$ ,Y�3 
1���$� ����� M��N�
1 �8
3  . :� ��3��� *��� ,

4
1 .�>��$��3 +1 �b -$ 0V ��1��;�.�
�� � �.
��:��
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=1�� �� ������ dr� ��1� ���: *��� ,� 43�C �1�� ����+ ���$1� 8 : A 8=��W� �
 A 8=:8� A8=�B� A 8
=S� 98<
 ���Y �� M87 ����
 ����� ������� M8�/ �?: 8
�.f� : A 8

3 +1:�F A 8

3 �
7 A 8

3 4�>
1 A 8=SW�

 : 4
1 M87 M��:1 ��+ �� �3 8
�5$ �.`1 ��
�:�  ������3 : 8�8� ��
�   

  

�������1  ��7 ����� �8
�5$ ������ '�= !  
�� ��������F �1�   legged mobile robots  
[� ��������1� y�Y  wheelde mobile robots   

�� �������+ ��V ���:�
7 :   underwater robots   

�� �������M8=�F   fly robots   

c� ���1 :p1������ �0+ 98< �1� y�Y        walking wheel robots  

٦- �������1�1� �R=+ �7Sf? : ��    Tracked slip/skid locomotion 

 

  

���!@ 2!%   �-1�� ��� ��$ #��+ �3 4
1 l
�
� ��= �$ y�Y : 4
1 �1��$�= !� 8=�7 M��N�
1 8
=1�� 

1��1+V ���� ������ '�= !�� ���6�_�=1 : 8=�1� �� ���6�� P�m� �?: 8

3 �5� ��� �� �� �N� ��� 8
������  ��7 : 8
�5$� �  �F ,�;7 �F :� 1� 0�5=1 ��;7 �F ���Y �C �����= : *�=1�;7 �F j7 ��� *1�6C �

�+ �� 9183 �$ �3 8
�5$�H�� �
���H�
��� ��� �� ���7   
�$ �=��= X�C��1 +1 �� M8$�6� 1� 0�7�����3 : ������ !�
3 �-:  

 

  
 ��= 0�5=1 *���=�
 43�7 �1�� �3 �.;� �H�� : *�"�� M��N�
1 *�H� 

 j�
� : ��7c�1+V ���� � ��1�  

Weight: 7 kg         
Height: 58 cm 
Neck DOF: 4 
Body DOF: 2 
Arm DOF: 2 x 5 
Legs DOF: 2 x 6 
Five-finger Hands 
The Sony SDR-4X II, © 2003 Sony Corporation. 
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AIBO, the artificial dog from Sony, Japan. 

 *��� : 4
�$��5

 '1�=1  ��7 �3 �=�
 43�7 �F ���Y ��b�6�F
: !���:� �3  18` jWF �1�� ���a8
.� !�
T�$ : ��1� !b:�>�� 

 �1�� ��7 �� M��N�
1 0V +1 *�f�.;� : *�H�H�� ��G
� �� -$ +��
 M87 �
�S$ �k� 0��.�� !�8
Y *��� !�1 �:� *�H�H�� : 4��


4
1  
  
  

�F j7 *��� 

 
 ��18��F �1�1� �>
�1  �?� �� �F j7 ��$ *���

< �� �� �� ���< 8
7�� ��  ��3 �� -$ 0�+ 98
 +1 1� ��� X��"� : ��18��F �>
�1 0:8� �
"� 8
7��
 1� 0�6��$�F +1 *:� �� �>� 8
=1�� �� 8
$8� 4
�
 �>b �� +��= X��
3 9�J
$ ��  �?� !�1 �� 8=�;� k��
 *�;>
/ �1+�= �>=�
Y 45�= ��=V ��18��F �:� ���+

 �?: �:� �� M1� �"��
 08�1 ��=� �� z�� ��
= 0���F���Y ���a��� �1�� 4<: 4/�
 !�8
Y �� +��

8
7�� �� ��� X��"�  
 
 

��[( !��!% (
)*� ' �- 5
6   

 
 ��1� -$ ���� � M�+�� �3 4
1 y�Y �6� 4
� 4��
  ��
: �� ���� �� �� '�= !��� ����/  

 ��3 �� �1��$ ��$ !��+ �� ��8�/ �1� y�Y ����� �������
����  �?� �� : 8=�7 �� M��H
1 �1��$�= ��C1� : -3 ��1+1 *

8
7�� �� 1�1� -$ ���6�� ���OF ��=�� : X��
3 4�.��< A 43�C  
��7 �� �b�"� ������ !�1 +1 ��$ �=��= ��+ ��:  

  
The Carnegie Mellon Uranus robot, 
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 �3 ]�=1�:1 �� 9�
�� *���� ���� 9��� *��� ,� �omnidirectional �1� �3 4
1�8e�
 y�Y ���Y � 

:1+ ��� ��$ ,�.L� �c1 �� : 4
1 ���� �?� !�� ��N` �� *��� 9��� �� 43�C �� ���<  �7�� 8 #
�� 

f�������Y 4/�
 4�� : M+18=1 �� ��j !�b� -�H�5� �1�� : 8
3 �� 43�C ).�W� ��$ 4�
 �� 
  !�1 : 4
1 �?��
3 �G= +1 s�<� ���3 �3 8
3 43�C 4�� ,� : 4/�
 ,� �� �����Y 9��� 4
1 ��;R�

+1 �� ��5� +1 P1��=1 2/�� !��+ �� �$ y�Y ISf? �=�a �$ 0�Y ��7 �� t�5�� 01 �C1�U )��Q *�>= 
��7.  
  

0+ 98< �1� y�Y *���  
  

�������� �3 ������ 4
1 !>�� 8=:�� M1� 8
=1�� �Sa !�1�� �
� P�`�= D�E
 
?: 8
7���?� �� �= -3 M�+��  � �� +��F X��
3 ,�8=�1� ��b�6 .���  C M1� �


�$ -���;� 8�
"�3�� �;� 4
1 y�Y : �F +1 ..C M1��5� �3 �1�� l
�
� ��� 
��������vb �� *���  >7 ��  4
1 shrimp �
 4��
� 9 8$�6� 1� ^

�
>� 8.1�71  +1 !�b� k�� �� ���< �1������ y�Y j7 ��  *��� !��� �� 
a�S���
 ��1�� :� ��$ y�Y S�� j�1 : 87�� �� 2/�� !�� �� ��7 �C1� 

:� �:� k�� �$ �.F +1   OF 0���b y�Y �1�1� �3 ��1� �.� : lH/ �� �� 

�."� -��H�� �1 �=�a �� 8
7�� ��$ ]��� +1 �3 �J6��+ �� ��=V � !
�U1� 0���b 9S=�>� : ��1�  y�Y :� -$ P�U  �$ �� : ��7  `�C 0�


����  `�C �.� : lH/ y�Y 0��3 I��a 0��S�$ �.� ��7 .1� *��� !
�1���F ��18�+ ��=1�� : �����C !�b� k�� ��( �� �� 1�1� -$ 1� -3 ��>E`1 l�87��   
  

  

���(!��!%  'B&8 "  �- 
�CDEF !$  

  

1� 8
=�� ������ !���G= ,=�� ,��  �/ �1 �� 8

3 � !
����Y �3 *��`�=���Y �:��:� � �� �3 8=�1� -$ � ,
� 43�C 4������/�
 ��8

3 � ).�W� ������ �� �� 

 ��v��������A��3�>�E`1 �����
 +1 �3 �3 �� M��N�
1 � 
�+ �� ]��� {E
 8

3�� 0�6
�.��$ : 4
1 |
: �OF ��=�� 2/�� ��3 !���� 0�7���� � �� �3 ��7 
��� �� -$ P�`�= D�E
� 8

3 43�C .1 ���?� �� X�C !�f� w�S� ]�� {E
  ��.3 4�� �� *��� 
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= k��"�� �� +���� M1��$ j��Y ,��5< : ��1� ISf? �5� +1 �� ISf? P�` ��
Y ��(��7 ���3 !� 01 
"��3 4
1��<� S3�� !�.>6� ��3 *��� s�� � ��7  *���  >7 �� Nanokhod � �� M8���7   

  

���!,����$ �/!	  - �. ��	� 0
1� (
)*� 2!%  3  

�� ��� �������� locomotion  

��F ��18�  
�OF��=�����  
�OF X��
3��� 

[�"� ��� !  �localization 

���� ��� � #perception 

� �$��5

 

�
"� �� *�/dU1 I+1��F �  
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